MoT(t) / MoT(c0)

log SFR [M  /yr]

Cumul M, [10"M ]
(@)}

log SFR-SD [M , /yr/kpc® ]

[Fig03] MoTs & SFRs 4 discussion || K0908 0.3.6 d13¢512 w/base Bgsd01 || FWHM=0.5dex ; AR=1.0 pix || NGC7611

SDSS stamp

o

[\

: : : —  nu
35 AR s <=05HLR []
: : : == <=10HLR
30 S T =— > L.OHLR ||
25b . . — ot |
' . . . B integrated

log t [yr]

0.25

0.20

0.15

0.10

0.05

MoT = M(<t)/t [M , /yr]

-

=

. . . R>0 e .
Pony Mﬂ‘%@; i ‘T*"}"_}L') I
I

I I
. . === <= ].(0HLR
BN R R R vt

MoT-SD = M(<t)/t/A [M , /yr/kpc* ]

MoT(t) / MoT(c0)

) T T T T !
| Asari+07 SFR—SD(t)l 5 . 5 : :

' ' : % 25 R R RRAEE R

20 R R LR REE R

20

LS R R St

1 e e = R

5 ; ; R sl
. . . 05 - R A S AR R
. Py ‘)_\pr".-J . . . )-’J\,LC_)O

& @ﬂ-@m (B(AARR i L 0.0 k2 SN (ANNARG N A s LS 4 L
I I I I I . I I I I I

2.5




